
Addition With 5-Digit Numbers
1) 2) 3)

5 6 8 3 6 8 4 0 2 1 9 5

+ 4 4 1 0 + 2 8 6 0 + 1 7 7 4 2

4) 5) 6)

2 8 4 6 8 6 9 4 9 2 9

+ 5 5 8 + 7 1 9 + 8 5 6 7

7) 8) 9)

8 4 6 7 7 8 3 4 5 2 2

+ 8 5 8 + 8 4 1 1 + 4 5 8 6 1

10) 11) 12)

9 9 3 9 4 9 8 8 4 1 6 3 7 3

+ 4 6 4 5 3 + 5 2 4 2 6 + 2 6 6 1 1

13)

7 5 3 9

+ 6 9 5

1 0 2 2 9 3

6

4

5

5

71

8

5

8

8

2 4

6 8

5 0

5

35

3 9

Fill in the missing numbers to make the calculation correct.
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14) At a marble factory,  a large box of marbles holds 62 750 marbles and a small box 
holds 21 450 marbles.

How many marbles would there be altogether in one large box and one small box? 
Use the column method to work out the answer.
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Addition With 5-Digit Numbers Answers
1) 2) 3)

5 6 8 3 6 8 4 0 2 1 9 5

+ 4 4 1 0 + 2 8 6 0 + 1 7 7 4 2

1 0 0 9 8 9 0 0 0 0 9 9 3 7

4) 5) 6)

2 8 4 6 8 6 9 4 9 2 9

+ 5 5 8 + 7 1 9 + 8 5 6 7

8 4 2 7 0 1 4 3 0 5 1 6 3 4 9 6

7) 8) 9)

8 4 6 7 7 8 3 4 5 2 2

+ 8 5 8 + 8 4 1 1 + 4 5 8 6 1

1 7 0 5 1 6 1 6 0 1 8 9 8 0 3 8 3

10) 11) 12)

9 9 3 9 4 9 8 8 4 1 6 3 7 3

+ 4 6 4 5 3 + 5 2 4 2 6 + 2 6 6 1 1

1 4 5 8 4 7 1 5 1 0 1 0 4 2 9 8 4

13)

7 5 3 3 9

+ 2 6 9 5 4

1 0 2 2 9 3
1 1 1 1

6

4

5

5

71

8

5

8

8

2 4

6 8

5 0

6

6

5

35

3

3 7 1

9

Fill in the missing numbers to make the calculation correct.
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14)

6 2 7

+ 2 1 4

8 4 2
1 1

At a marble factory,  a large box of marbles holds 62 750 marbles and a small box 
holds 21 450 marbles.

How many marbles would there be altogether in one large box and one small box? 
Use the column method to work out the answer.

Addition With 5-Digit Numbers Answers

5

5

0

0

0 0

There would be 84 200 marbles.
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